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IECSRGBu? triangle lightnesst*

t* Yoc=Yw - nc=100,

t*1EcsreBur=50 (Y/Y) Y2 0(Y,=18, Y,/ 100<Y<=Y, o)
t*N(3,6)=22,t* ,(18)=50,t*\y,(90)=112

*00=111,804=2,0, 11,—1/2 0=0,50
15750,00 §=50, 0,
t#3,6=22,30,t,=50 oo =18

log[t*/t* ,]=

1
1Y,=18
Yn=36 1 Yy=90

IECSRGBu7

tristimulus value difference

YoemYw  nc=100,
t*1EcsreBur=50 (Y/Yy) Y2 0(Y,=18, Y,/ 100<Y<=Y, o)
log(dY) = (1/2,0) log[2,0¢,/50)] + [1~(1/2,0)] logY)

.
*,=50,dY,=4,00 dY/Y,=02222 4@ 3

log (AY/Y) IECSRGBUT
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t*1EcsreBur=50 (Y/Yy) Y2 0(Y,=18, Y, /100<Y<=Y, o)
log(dY/Y)= log[2,0(Y,/50)] - (1/2,0) log{/Y,,)

= (1/2,0) log[2,0¢,/50)] - (1/2,0) log{)

) ' A
t*,=50, dY,=4,0Q dY,/Y,=02227 1 -4 ange

(dY/Yp5=0,0993y=2,0, 1§=1/2 10,50

(dY/Y)g=0,2222 50,00 D,=—p,00

(dY/Y} 6=0,4957 Y,=18, dY;=4,0p
1Y,=18

YN=36 ) Yw=90

IECSRGBu7
tristimulus value contrast
Cr=(viay) Yo=Yy grne=100
t*1EcsreBur=50 (Y/Yy) Y2 0(Y,=18, Y, /100<Y<=Y, o)
log(Y/dY)= - log[2,0/,/50)] + (1/2,0) log{/Y,)
- (1/2,0) log[2,0¢,,/50)] + (1/2,0) logy¥)

=50, dY,=4,00 Y,/dY.~«

(Y/dY)=10,06,y=2,0, 1¥=1/2,040,50
(Y/dY)g=4,50 $=50,00 D= —0 00 application
(Y/dY} ¢=2,01 Y,=18, dY;=4,0 range
'v,=18
Ya=3,6  Y\y=90

IECSRGBuU7 relative triangle lightnesst*/t*,

e, Yoc=Yw  nc=100,
t1EcsreBur=50 (V/Yy) Y20(Y,=18, Y, /100<Y<=Y, )
t*N(3,6)=22,t*,(18)=50,t*\y(90)=112

tgg/t*=2,23,y=2,0, 1x/—1/2 0=0,50
t*19/t*,=1,00 §,=50,01 )
t+3,t*,=0,44,4,=50 oo \g 18

log[t*/t* ]=0, m,=0,49

application
range

1Y,=18
Yw=90

log(AY/AY,) IECSRGBU? relative

tristimulus value difference
INUND VY - =100,
t1EcsreBur=50 (Y/Yy) Y20(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/2,0)] loglf/Y,)

dYo/dY,=2,23,y=2,0, 1§=1/2,0=0,50
dY;¢/dY,=1,00 §,=50,00 D=-0,00
dYs ¢dY,=0,44 Y,=18, dY=4,00
t+,=50, dY,
log[(dYY(dY),]=0, m,=0,49 , ».*
e 1 application
1 ge
1Y,=18
Yy =90

log [(AY/Y) 1 AYIY),] IECSRGBU7 relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
t1EcsraBur=50 (Y/Yy) Y20(Y,=18, Y, /100<Y<=Y, o)
logl(dYMN)/(AY/Y),] = - (1/2,0) logl/Y,)

(dY/Yyo/(dY/Y)=0,44,y=2,0, 1§=1/2,0=0,50
(dY/Y)g/(dY/Y)=1,00 §=50,00 D,=-0,00
Y00 > o
(@YY} ¥=18 dY=4,00 0 % = s
range

s
logl(dY/YY(dY/Y),]=0, my==0,a2 1 44 v
t*,=50, dY,=4,00 dY,/Y,=0,2222 !

1y,=18
Yae36 | Y200

log [(Y/AY) 1 (YIAY),] IECSRGBU7 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t1EcsreBur=50 (Y/Yy) "20(Y,=18, Y, /100<Y<=Y,c)
logL(Y/dY)/(Y/dY),] = (1/2,0) logiY/Y,)

(Y/dY)o/(Y/dY)=2,23,y=2,0, 14=1/2,0=0,50
(Y/dYYg/(Y/dY)=1,00 §=50,00 D;=-0,00
(YIdYYd/(Y/dY)=0,44 Y,=18, dY=4,00

application
range

1Y,=18
Y=90

IECSRGBu7 triangle lightnessT*

T+ Yoc=L*w - nc=100

T*IEcsraBur=50 (Y/Y,) "20(Y,=18, Y, /100<Y<=Y,0)
T4\ (3,6)=22,T* ,(18)=50,T*y (90)=112

T*go=111,80y=2,0, 1§=1/2,0=0,50
T*36=50,00 $=50,00 D,=-0,00
T*3,622,30,1%,=50,00 \=18

1
1Y, =18
MN=3,671 Yy =00 T

BEV71-1A

logAY) IECSRGBu7

AY tristimulus value difference
Yoc=L*w - nc=100,

T* lecsraaur=50 (YY) M20(Y,=18, Y, /100<Y<=Y,o)

log(dY) = (1/2,0) log[2,0¢,/50)] + [1~(1/2,0)] logY)

*y=50, dY,=4.00 0Y,/Y,=0,2222 ,#

-

dYe=8,94,y=2.0, +%=1/2,0=0,50
dY;g=4,0Q S.—_AJ 0Q D,=-0,00 & application
dY; 61,78 Y,=18, dY= 400 1 range
y,=18
YN=3,6 1 1 Yw=90" [

BEV71-3A

log AY/Y) IECSRGBu7
_ tristimulus value sensitivity
S=(@AYH) YomL*w =100

nc’
T* |EcsreBur=50 (YY) Y20(Y,=18, Y, /100<Y<=Y,o)
log(@Y/Y)= log[2,0(Y,/50)] - (1/2,0) log¥¢/Y,)
= (1/2,0) log[2,0¢,/50)] - (1/2,0) log{)

. application
NG range
T*,=50, dY,=4,00 dY,/Y,=0,2222 : Sa 9
(dY/Yy=0,0993y=2,0, 1¥=1/2,G=0,50
(dY/Y)g=0,2222 §=50,0Q D,=—,00
(dY/Y},¢=0,4957 Y,=18, d\;=4,0p
1Y,=18
MN=3.600, Y =90 T

BEV71-5A

log (Y/AY) IECSRGBu7

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
T* lEcsreBur=50 (YY) M20(Y,=18, Y, /100<Y<=Y,o)
log(Y/dY)= - log[2,0,/50)] + (1/2,0) log¥/Y,)
~ (1/2,0) log[2,0¢,/50)] + (1/2,0) log)

T* =50, dY,=4,00 Y,/dY,=4

,06, 0, 1§=1/2,040,50
(Y/dY)g=4,50 S~ o,oq Dn =-0, 00 application
(Y/dY} 6=2,01, Y,=18 dY~=4,00 ! range

'v,=18

BEV71-7A
BEV71-7N

THT* IECSRGBUT relative triangle lightnessT*/T*
THT*, Yoc=L*w - nc=100,

T* EcsraBur=50 (Y/Y) 20(Y,=18, Y, J/100<Y<=Y, )
T4\ (3,6)=22,.T* (18)=50,T*  (90)=112

T*eo/T*=2,23,y=2,0, 1§=1/2,0=0,50

T*19T%,=1,00 §,=50,00 D,;=-0,00

T*3dT*,=0,44,T%,=50,0Q Y18
log[T*/T*,]=0, m,=0,49

L* =49, T* =50 —
application
range

1Y,=18
Yw=90

BEV71-2A

log(AY/AY,) IECSRGBU?7 relative
tristimulus value difference

AYIAY, oozl r gy 100,

T* Ecsrapur=50 (Y/Y) M20(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1-(1/2,0)] log¥/Y,)

dYo/dY,=2,23,y=2,0, 1§=1/2,0=0,50
dY;g/dY,=1,00 $§,=50,00 D,=-0,00
d¥s ¢dY,=0,44 Y,=18, dY=4,00
s
e
log[(dYY(dY)y]=0, m;=0,49 _ #
o 1 application
< 1 nge
1Y,=18

YN=3.6  Yw=90

BEV71-4A
log [(AY/Y) | (AYIY),] IECSRGBUT relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T* Ecsrapur=50 (YY) 20(Y,=18, Y, /100<Y<=Y, )
logl(dY)/(AY/Y),] = - (1/2,0) logl/Y,)

(dY/Yyo/(dY/Y)=0,44,y=2,0, 14=1/2,0=0,50
(dY/Y)g/(dY/Y)=1,00 $,=50,00 D,=-0,00
o2 Ve ]
(AYIVh (Y223 V=18 dY=4,00 5 2o s
RSN range

logl(dY/YY(dY/Y),]=0, m,=—0,49 ~
T#,=50, dY,=4,00 dY,/Y,=0,2222 !
/=100y
YR=3.67 =90 T

BEV71-6A
log [(Y/AY) I (YIAY),] IECSRGBU7 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

=1

nc
T* |Ecsrapur=50 (YY) 20(Y =18, Y, /100<Y<=Y, )
log[(Y/dY)/(Y/dY),] = (1/2,0) logiY/Y,)

(Y/dYbOI(Y/dY), 2, 23 rz,o 1xr1/2 0=0,50
(Y/dYYg/(Y/dY)= ,00 D=-0,00
(YIdYY J(YIdY = 44 Yu 18 dY=4, oo

log[(Y/dYY(Y/dY)]=0, m;=0,50 =~
o
T*,=50, dY,=4,0Q Y,/dV,
B 1 application
- 1 range
1y =18
NNE3601 Ya =90 T

BEV71-8A
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